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��م ر��)��  ا��/&راآ��ا�&ورة�2008�آ���ر�� .-���� ا�,�+��ء  :ا���)�ع ا� ��5 - 3�   .  

  

  
  : �ا�6ا���)�ع ا�3

�-?ف ا�=�ي إر��ل ا�,:���1 �8�9�ث        ��ر .�آ+ � ��@�� ��   .   �9رض �D � .� ا��واد ��,:�ء .� اBC درا
��  .    �G&ف                 درا�� �FD .�ا�B ا���
 ا�=+ء ا�ول    : .���� ا���?ق

�B�-J ا���8ك �%�ن &��   B$K/�و ����G� أنا���?ق را&M ��Cر�N ة�� O2�%� ���/8�زات ا��ع ا�-�&2�ا N   F = 32,4.106R���  
   Kg  M=2041.103   و آ/�� ا���آ$� ��& ا���?ق   g0 = 9,81m/s2�B�G ��ى ا��/%�ك و�M �$/D&ة .=�ل ا� K��� S�� �   .    ��ة ا�&62

 1-C?ق  أ��ا� �V8� &�� ��1�:,ا���آ$� ا� R�� �K$��ى ا��Kرع ا���آ$� -2  .�د ا���� Wا�� a0 8� &��  V?ق��ا� � .  
  .S��Z ا�/��رع أنإذا ا�(�/2�   t = 2,5 mn   ا�/4 �BY إ��G� ا���آ$� ��& ا�/�ر�X   ر�,�عا� و    ا��W ا�����-3
���� ا���آ$� أآ$� .� ا�����-4 ��K�K842 ا� �K��� �G���� ��  . أ�[ �,���ا �\�] .   ا�/4 

 ا�=+ء ا� ��4 : ا��8آ� ا�&ا���1 ��ل ا�رض
&D�  mn  10?ق��ا���آ$� . .� ا� BN&�Rإ��ا�رضا�&ا�1ي ��ل   .&اره R�  ار�,�ع �
    z = 300Km   �G/�  �D/$� ا���آ$�   .m = 69,68. 103 Kg     و �%�ن آ/
      .  Rt = 6400kmآ�و�� ا�DM B%J��G�     ا�رض���K .�د�� و     

-1 B%Jا� R�� B .2 �$ا���آ R�� �K$��ة ا��Kا� �G=/.  .  

���رع ا���آ$�  �&��� -2 ��$D� &Cاو ��   G , Mt , Rt .z. �/�$�_ ا�K���ن ا� ��4 ����

���� ا���آ$� �&���    - 3     ��$D�  . = Rt + z r و  G , Mt أ�[ 
    4    - _K8� ���  . .� ا�K���ن ا� ��5 �%$

  .  Mtا�رض  ا��W آ/�� Km/s   V2 7,74 =ه4  ���� أن ���� ا���آ$� - 5    
4�D�:G  = 6,67 . 10-11 m3.Kg-1 .S-2   .  

 ا�=+ء ا� ��5:.���� ا��+ول   :
1-��V�2/` ا�:  

    ����� ا����$��   ��Z1& ار�,�ع. N?ل .���� ا��+ول �%�ن ��آ� ا���آ$� رأV�ا� `/,�ا�R ��ة ا�/%�ك  a/2:6 ا��=����  �����آ$�    
�G� ب &C&�� �%��  ا����� و �G=/. R8��� cآ�D. �ه�8�. :FZ = k.VZ

2    5�� V����  . S��k �/ و OZا���آ$� ��R ا���8ر   
   .ا�رض ��& ��`  O أ��e ا��� eC�. R�Oz �8�B�G دا�D2 ارN��&س و �a/�ر ا���8ر   

  1-1�GKK8�  . VZ ا����� أآ/W ا��D�د�� ا�/,�)��� ا�/4 
2-1-   ��&� ���� Rا���آ$� ا� ���� BY� VL = 10 m/s.    �/�� ا� ���� Wأ��k  �G�  .     .8&دا و�&
                                                                              .    m�D/$� آ/�� ا���آ$� S��/� و���وي     

         - ا�,?ت ��C .� ا���آ$�
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